' 4

IBRUBINETTI

Collection

INDUSTRIA

Article

ID202

Description

Tall washbasin mixer complete of automatic pop-up

Box Dimensions Weight
425 x 188 x 98 mm 2.3 kg
Finishes
@CC @CF OBG ONG @SS @cCs

CHROME BLACK GLOSSY GLOSSY BRUSHED BRUSHED

CHROME WHITE BLACK NICKEL BLACK
CHROME wl b

OBO ONP @00 OBB @Il ORR

MATT MATT GOLD ANTIQUE PALE ANTIQUE

WHITE BLACK BRONZE GOLD COPPER
O®RS @OON @IS OHH

ROSE NATURAL BRUSHED PVD

GOLD BRASS PALE CHOCOLATE

GOLD
Dimensions
168
242
¢}

272

239

198

#50

Cartridge
IB 25 mms Ceramics Discs Cartridge

135

Wall Hoses

Inox hoses G3\8" female 400 mms long

Aerator Flow Rate (+/-10%)
M16.5X1 cacheé coin slot 1 BAR 2 BAR 3 BAR
5.9 \min 8.4 I\min 10.3 I\min
Production Material
Main body is a machined from a solid pieces BRASS

T. +39 030 802101
F. +39 030 803097
info@ibrubinetterie.it

IB RUBINETTERIE s.p.a
via dei Pianotti 3/5
25068 Sarezzo (BS) - Italy -

According to CuZn35Pb2Al-B (CW614N)
Max Lead content: 2.5%

P.IVA 01785230986
capitale sociale
€420.000,00 i.v.

WWW.IBRUBINETTLIT

» f B




' 4

IBRUBINETTI

Elenco parti

ELEM| CODICE NUMERO DI MAGAZZINO
1 |AC0012840 |Handle @42 H30 knurled

2 |AC0007091 |Straight rod @8 L67

3 |AQ0009938 |Grubscrew M4x3 flat point

4

5

3

AQO0006650 |Plug cover @7
CPID202CC |Preassembled tall basin mixer
-1
5.1 |AC0012842 |Cartridge fixing nut chromed cover
5.2 |AQ0006586 |OR 25.12x1.78 NBR 70 SH
5.3 |AS0011353 |Cartridge fixing nut M30x1 H14.35
5.4 |AQ0010564 |OR 26.7x1.78 NBR 70 SH
5.5 |AQ0013098 |Ceramic cartridge @25 9x9 (K25 OP S)
5.6 |AQ0010972 |OR 23x2 NBR 70 SH
5.7 |AC0010810 |Connection piece @27X18
5.8 |AC0010807 |Tall mixing body @42 H235
5.9 |AQ0001350 |OR 11.11x1.78 NBR 70 SH
5.10 |[AS0010783 |Spout connection M16x1 M10x1 H12.5
5.11 |AQ0004610 |OR 12.42x1.78 NBR 70 SH
5.12 |/AC0010961 |Spout 18 L126
5.13 |AS0010829 |Aerator stopper M16.5x1 H4
5.14 |AQ0009836 |Perlator honeycomb with rubber (44.3030.0)
5.15 |AC0010830 |Aerator cage M16.5x1 H6
5.16 |AQ0001325 |OR 6x1.5 NBR 70 SH
5.17 |AQ0009711 |Separator for pipes
5.18 |[AC0010899 |Extension pipe M8x1 M10x1 H230
6 |AS0010786 |Reduction nut M38x1.5 M33x1.5 H11
7 _|AC0009680 |Threaded stem M33x1.5 H61
8 |AC0012841 |Base @5 H5 knurled
9 |AQ0008013 |Rubber packing 45x35x2
10 |AS0010659 |Brass ring @50x35.5x3
11 |AS0010658 |Ring nut with screwed holes @52 M33x1.5
H6
12 |AQ0010358 |Inox screw M5x16
13 |AQ0000932 |Inox hose M10x1 G3/8" F L400 2
14 |AQ0009837 |Simple rapid waste 1"1/4 1

alalalalalO

alalp|alalalmaa|alalalalalalalalalalalalala

IB RUBINETTERIE s.p.a T. +39 030 802101 P.IVA 01785230986 WWW.IBRUBINETTLIT
via dei Pianotti 3/5 F. +39 030 803097 capitale sociale -
25068 Sarezzo (BS) - Italy - info@ibrubinetterie.it €420.000,00 i.v. » f




